
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

ALGEBRAIC EXPRESSIONS AND IDENTITIES

Others

1. We know that the perimeter 
 of a square of side s is given 


find the constant and variable part

Watch Video Solution

P

by P = 4  ×  s.

2. The perimeter P of a rectangle of sides 
 is given by 


evaluate the variable and constant part

l and b

P = 2 (l + b).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_s17kjNqXb2qC
https://dl.doubtnut.com/l/_7ARgKshzcsgG


Watch Video Solution

3.  is an algebric expression.
find the terms of the

expression

Watch Video Solution

2x2 − 3xy + 5y2

4. The expression 
 is an algebraic

expression.find the terms of the expression

Watch Video Solution

2x3 − 3x2 + 4x − 7

5.  etc. are all monomials.

Watch Video Solution

−5,  3y, 7xy, x2 yz,   a2bc32

3

5

3

https://dl.doubtnut.com/l/_7ARgKshzcsgG
https://dl.doubtnut.com/l/_lvdwx4tGKifm
https://dl.doubtnut.com/l/_js5tPfk1RgkS
https://dl.doubtnut.com/l/_alvtZ4q4CaWN


6. The expressions 
 etc. are all

binomials.
 Note that 
 is not a binomial, because 


which is a monomial.

Watch Video Solution

2x − 3,   3x + 2y,   xyz − 5

3x + 7x

3x + 7x = 10x,

7. Are the expressions


etc. trinomials?

Watch Video Solution

a − b + 2x2 + y2 − xy,  x3 − 2y3 − 3x2 y2z

8. True/False: In 
the coefficient of x is 
the coefficient

of 
is 
and the coefficient of 

Watch Video Solution

−5xy, −5y :

y −5x xy is − 5.

https://dl.doubtnut.com/l/_kZPvnNmkunJb
https://dl.doubtnut.com/l/_0Rh69LY7O7Kd
https://dl.doubtnut.com/l/_uE8B7kTYbP9t


9. In 
the coefficient of 
is -1.

Watch Video Solution

−x, x

10. In 
the coefficient of 
is 
the coefficient of 
 is 

and the coefficient of 
is 

Watch Video Solution

3a2bc, a2  3bc, b 3a2c

c 3a2b.

11. In the algebraic expression 
 the constant

term is 
.

Watch Video Solution

x2 − xy + yz − 4,

−4

12. In the algebraic expression 
we have 


 and 
 as like terms, whereas 
 are unlike

2a2b + 3ab2 − 7ab − 4ba2,

2 a2b −4ba2 3ab2and 7ab

https://dl.doubtnut.com/l/_RbgdfB6i19hn
https://dl.doubtnut.com/l/_Yz5V0g5kRCo3
https://dl.doubtnut.com/l/_6Gi5Dn6gEQbf
https://dl.doubtnut.com/l/_ZAtcFgdDdbMg


terms.

Watch Video Solution

13. Identify the terms, their coefficients for each
 of the following

expressions: 

(i) 
(ii) 

Watch Video Solution

7x2yz − 5xy x2 + x + 1

14. Identify the terms, their coefficients for each
 of the following

expressions:
 
(ii) 

Watch Video Solution

3x2y2 − 5x2y2z2 + z2 9 − ab + bc − ca

15. Identify the terms, their coefficients for each
 of the following

expressions:
 
(ii) + − ab
a

2

b

2
0. 2x − 0. 3xy + 0. 5y

https://dl.doubtnut.com/l/_ZAtcFgdDdbMg
https://dl.doubtnut.com/l/_sZf1OJCJMGOA
https://dl.doubtnut.com/l/_kSb3V9qGS5zb
https://dl.doubtnut.com/l/_XJjmknVV3KJQ


Watch Video Solution

16. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?
(i)

(ii) 1000 (iii) 

Watch Video Solution

x + y

x + x2 + x3 + x4

17. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?


(ii) 
(iii) 

Watch Video Solution

7 + a + 5b 2b − 3b2 2y − 3y2 + 4y3

18. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?

https://dl.doubtnut.com/l/_XJjmknVV3KJQ
https://dl.doubtnut.com/l/_b8NjBUZiGsgp
https://dl.doubtnut.com/l/_vkM8jDErwcfj
https://dl.doubtnut.com/l/_N9AfHQzk5Xmd



(ii) 


Watch Video Solution

5x − 4y + 3x 4a − 15a2 xy + yz + zt + tx

19. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?
 
 (ii) 


(iii) 

Watch Video Solution

pqr

p2q + pq2 2p + 2q

20. Add ; 

Watch Video Solution

7x2 − 4x + 5,   − 3x2 + 2x − 1 and 5x2 − x + 9.

21. Add :

W t h Vid S l ti

5x2 − x + , − x2 + x − and − 2x2 + x − .
1

3

5

2

1

2

1

2

1

3

1

5

1

6

https://dl.doubtnut.com/l/_N9AfHQzk5Xmd
https://dl.doubtnut.com/l/_x4IaavbGTBbl
https://dl.doubtnut.com/l/_SnWLv2FhZ8OV
https://dl.doubtnut.com/l/_LS111Ra5bo9y


Watch Video Solution

22. Add the following algebraic expressions:

Watch Video Solution

2, − + , − + − , + 3y2 + 3y +
2y

3

5y2

3

5y3

2

4

3

2y2

3

y

2

5y3

3

6

5

23. Subtract : 

Watch Video Solution

( − 2y2 + y − 3) om 7y2 − 2y + 10.
1

2

24. Subtract : 
 from 

Watch Video Solution

x2y + y − x2yz
3

2

4

5

1

3

  x2yz − xyz + x2y.
12

5

3

5

2

3

https://dl.doubtnut.com/l/_LS111Ra5bo9y
https://dl.doubtnut.com/l/_rq7K5elHi93D
https://dl.doubtnut.com/l/_HqArph7M36Cy
https://dl.doubtnut.com/l/_OeHe9ptdyzty


25. Take away 
from

Watch Video Solution

+ + x2 + x3  
9

2

x

2

3

5

7

4
   − − .

7

2

x

3

x2

5

26. Add the algebraic expressions: 

Watch Video Solution

3a2b, − 4a2b, 9a2b

27. Add the algebraic expressions: 

Watch Video Solution

a, a, − a
2

3

3

5

6

5

28. Add the algebraic expressions:

Watch Video Solution

4xy2 − 7x2y,  12x2y − 6xy2,   − 3x2y + 5xy2

https://dl.doubtnut.com/l/_5nt9XenViwJh
https://dl.doubtnut.com/l/_HAoUnCyCtX6p
https://dl.doubtnut.com/l/_y3JdpoTHNsHk
https://dl.doubtnut.com/l/_0UogibPY1zAH


29. Add the algebraic expressions:

Watch Video Solution

a − b + c, a − b + c, a + a + b − c
3

2

5

4

2

5

2

3

7

2

7

2

5

3

5

3

5

2

5

4

30. Add the algebraic expressions:

Watch Video Solution

xy + y + x,   − y − x − 13 xy
11

2

12

5

13

7

11

2

12

5

31. Add the algebraic expressions:

Watch Video Solution

x3 − x2 + , x3 + x2 − x + , x2 − x − 2
7

2

1

2

5

3

3

2

7

4

1

3

3

2

5

2

32. Subtract:  from −5xy 12xy

https://dl.doubtnut.com/l/_CwWP7CTmC59b
https://dl.doubtnut.com/l/_qgfMvlat1cNX
https://dl.doubtnut.com/l/_XdxVcHHyuRwk
https://dl.doubtnut.com/l/_dE1Xg5dCDNm6


Watch Video Solution

33. Subtract:
  from 

Watch Video Solution

2a2 −7a2

34. Subtract:
  from 

Watch Video Solution

2a − b 3a − 5b

35. Subtract:
   from 

Watch Video Solution

2x3 − 4x2 + 3x + 5 4x3 + x2 + x + 6

36. Subtract:


W t h Vid S l ti

x − y − z om x + y − z
3

2

5

4

7

2

2

3

3

2

4

3

https://dl.doubtnut.com/l/_dE1Xg5dCDNm6
https://dl.doubtnut.com/l/_7IpqU2EpB5X1
https://dl.doubtnut.com/l/_vHXLbqkIZKOv
https://dl.doubtnut.com/l/_yUrkNDcmU8E2
https://dl.doubtnut.com/l/_6qHg7sF0LioN


Watch Video Solution

37. Subtract:


Watch Video Solution

x2y − xy2 + xy om x2y + xy2 − xy
4

5

4

3

2

3

3

2

1

3

38. Subtract:
`(a b)/7-(35)/3b c+6/5ac from 3/5b c-4/5a c

Watch Video Solution

39. Take away :  from 

Watch Video Solution

x2 − x3 + + x
6

5

4

5

5

6

3

2

− x2 + x +
x3

3

5

2

3

5

1

4

40. Take away : + + −  om a3 − a2 −
5a2

2

3a3

2

a

3

6

5

1

3

3

4

5

2

https://dl.doubtnut.com/l/_6qHg7sF0LioN
https://dl.doubtnut.com/l/_1E0NPNycsmfy
https://dl.doubtnut.com/l/_XfiuzCy1rAAL
https://dl.doubtnut.com/l/_cO0NVm45tQ8U
https://dl.doubtnut.com/l/_W2bV5bQtpMLL


Watch Video Solution

41. Take away : 

Watch Video Solution

x3 + x2 + x +  om − −
7

4

3

5

1

2

9

2

7

2

x

3

x2

5

42. Take away : 

Watch Video Solution

+ y2 + y +  om − y2y3

3

7

3

1

2

1

2

1

3

5

3

43. Take away : 

Watch Video Solution

+ ac − ab + bcom ab − ac − bc
2

3

5

7

2

3

3

2

7

4

5

6

44. Subtract 
 from the sum of 3x − 4y − 7z

x − 3y + 2z and − 4x + 9y − 11z.

https://dl.doubtnut.com/l/_W2bV5bQtpMLL
https://dl.doubtnut.com/l/_V9nMpBGRVOHC
https://dl.doubtnut.com/l/_NA4tyuiwnfsW
https://dl.doubtnut.com/l/_vLt7NUC3RjwZ
https://dl.doubtnut.com/l/_sG6j4ns9uFtp


Watch Video Solution

45. Subtract the sum of 
 from

the sum of 
and 

Watch Video Solution

3l − 4m − 7n2and 2l + 3m − 4n2

9l + 2m − 3n2 −3l + m + 4n2.

46. Subtract the sum of 

Watch Video Solution

2x − x2 + 5 and − 4x − 3 + 7x2
om 5.

47. Simplify: 

Watch Video Solution

x2 − 3x + 5 − (3x2 − 5x + 7)
1

2

48. Simplify: [5 − 3x + 2y − (2x − y)] − (3x − 7y + 9)

https://dl.doubtnut.com/l/_sG6j4ns9uFtp
https://dl.doubtnut.com/l/_rqKxeA0nF024
https://dl.doubtnut.com/l/_zy5YRhwOivdy
https://dl.doubtnut.com/l/_OLSaZhknTMff
https://dl.doubtnut.com/l/_h7BeQKv3mxem


Watch Video Solution

49. Simplify:


Watch Video Solution

x2y − xy2 + xy − y2x + yx2 + xy
11

2

9

4

1

4

1

14

1

15

1

2

50. Simplify:

Watch Video Solution

( y2 − y + 11) − ( y − 3 + 2y2) − ( y − y2 + 2)
1

3

4

7

1

7

2

7

2

3

51. Simplify:

Watch Video Solution

− a2b2c + ab2c − abc2 − cb2a2 + cb2a − c2ab + ca2b.
1

2

1

3

1

4

1

5

1

6

1

7

1

8

https://dl.doubtnut.com/l/_h7BeQKv3mxem
https://dl.doubtnut.com/l/_4QiWQa5xMzwH
https://dl.doubtnut.com/l/_C2GodJFBrETF
https://dl.doubtnut.com/l/_eySPBHMQU6te
https://dl.doubtnut.com/l/_jcT2VCERSeBx


52. Find the product of the following pairs of
polynomials: 
(ii)


(iii) 
(iv) 
(v) 

Watch Video Solution

4,  7x

−4a,  7a 4x,  7xy 4x3, − 3xy 4x, 0

53. Find the areas of rectangles with the following
 pairs of

monomials as their length and breadth respectively: 
 (ii) (10,

5y) (iii) 
(iv) 
(v) 

Watch Video Solution

(x, y)

(2x2,  5y2) (4a,  3a2) (3mn,  4np)

54. Multiply : 
(ii) 

Watch Video Solution

3ab2c3 by 5a3b2c 4x2yz by − x2yz23

2

55. Multiply : 
(ii) 

W t h Vid S l ti

− x2yz3 by  − xy2z
8

5

3

4
x2y by  x4y

3

14

7

2

https://dl.doubtnut.com/l/_jcT2VCERSeBx
https://dl.doubtnut.com/l/_zSJajS7wQWyA
https://dl.doubtnut.com/l/_iFOYphxLhkHI
https://dl.doubtnut.com/l/_4yNWXwyH66U3


Watch Video Solution

56. Find the volume of the rectangular boxes with
following length,

breadth and height respectively:
 (i) 
 (ii) ,
 ;

Watch Video Solution

2ax,  3by,  5cz m2n  n2p

 p2m

57. Multiply: 
(ii) 

Watch Video Solution

−6a2bc, 2a2b and −
1

4
a5b2,  10a3b and 6

4

9

58. Multiply: 
(ii) 

Watch Video Solution

3, 15x and − 23x2y x, x2yz and − xyz23

7

https://dl.doubtnut.com/l/_4yNWXwyH66U3
https://dl.doubtnut.com/l/_d9J3kcXlApZ5
https://dl.doubtnut.com/l/_3xeursSZEibW
https://dl.doubtnut.com/l/_g3lU11KkQhOt


59. Find each of the following products:


 (ii) 

Watch Video Solution

( − 2x2) × (7a2x7) × (6a5x5)

(4s2t) × (3s3t3) × (2st4) × ( − 2)

60. Multiply each of the monomial : 

Watch Video Solution

3xyz, 5x, 0

61. Multiply each of the monomial : 

Watch Video Solution

ab, bc, abc
6

5

5

6

12

9

62. Multiply each of the monomial :

x2yz2,  0. 5xy2z2,  1. 16x2yz3,  2xyz
3

4

https://dl.doubtnut.com/l/_MbxoS3nIcV2w
https://dl.doubtnut.com/l/_QHwFe0B7BWxX
https://dl.doubtnut.com/l/_gut4I5V8BrFp
https://dl.doubtnut.com/l/_M0iDszFM8TEJ


Watch Video Solution

63. Multiply each of the monomial :


Watch Video Solution

20x10y20z30,  (10xyz)2

64. Multiply each of the monomial :

Watch Video Solution

( − 3x2y),  (4xy2z),  ( − xy2z2)and ( z)
4

5

65. Express the following product as a monomial :

Watch Video Solution

(x3) × (7x5) × ( x2) × ( − 6x4)
1

5

https://dl.doubtnut.com/l/_M0iDszFM8TEJ
https://dl.doubtnut.com/l/_OMFrTyYLbjws
https://dl.doubtnut.com/l/_VJEquszyUIii
https://dl.doubtnut.com/l/_MUeewNkjJAaJ
https://dl.doubtnut.com/l/_QCSArw4snukf


66. Multiply 
 by 
 and verify your result for 

Watch Video Solution

− x34

3
x2y

6

7

x = 2 and y = 1.

67. Find the product of 

Verify the result when 

Watch Video Solution

−5x2y, − xy2z, xyz2and − z.
2

3

8

15

1

4

x = 1, y = 2 and z = 3.

68. Find the value of 
 for

Watch Video Solution

(5a6)  ×  ( − 10ab2)  ×  ( − 2. 1a2b3)

 a = 1 and b = .
1

2

https://dl.doubtnut.com/l/_QCSArw4snukf
https://dl.doubtnut.com/l/_R9itedjUHlDi
https://dl.doubtnut.com/l/_mNoZlZioTOPe


69. Find each of the following products:


(a) 


(b) 

Watch Video Solution

5x2 × 4x3

−3a2 ×  4b4

70. Find each of the following products:
 (i)

(ii) 

Watch Video Solution

( − 5xy) × ( − 3x2yz)

xy  × x2yz21

2

2

3

71. Find each of the following products:




Watch Video Solution

( − xy2z) × ( x2yz2)
7

5

13

3
( − x3z) × ( − xz2y)

24

25

15

16

https://dl.doubtnut.com/l/_LJfWaCgMaBXb
https://dl.doubtnut.com/l/_GKnTVnrOXcsV
https://dl.doubtnut.com/l/_G5Zy9obNdPgg


72. Find each of the following products:




Watch Video Solution

( − a2b2) ×  ( a3b2c2)
1

27

9

2
( − 7xy) × ( x2yz)

1

4

73. Find each of the products: 

Watch Video Solution

(7ab) ×  ( − 5ab2c) ×  (6abc2)

74. Find each of the products: 

Watch Video Solution

( − 5a) ×  ( − 10a2) × ( − 2a3)

75. Find each of the products: 

Watch Video Solution

( − 4x2) × ( − 6xy2) × ( − 3yz2)

https://dl.doubtnut.com/l/_17mnBh0j8oqz
https://dl.doubtnut.com/l/_7J4vTThXgfii
https://dl.doubtnut.com/l/_dBSLdXKOf9jq
https://dl.doubtnut.com/l/_RNi5bbQ1eGlt


76. Find each of the products:

Watch Video Solution

( − a4) × ( − a2b) ×  ( − b2)
2

7

3

4

14

5

77. Find each of the products:

Watch Video Solution

( ab2) ×  ( ac2b) × ( − a2c)
7

9

15

7

3

5

78. Find each of the products:

Watch Video Solution

( u2vw) ×  ( − 5uvw2) × ( v2wu)
4

3

1

3

https://dl.doubtnut.com/l/_1mKK9SuapyN0
https://dl.doubtnut.com/l/_9sf7cU5tuMAJ
https://dl.doubtnut.com/l/_jJgW0Ksomaa4


79. Find each of the products: 

Watch Video Solution

(0. 5x) × ( xy2z4) ×  (24x2yz)
1

3

80. Find each of the products:

Watch Video Solution

( pq2) × ( − p2r) ×  (16p2q2r2)
4

3

1

4

81. Find each of the products: 

Watch Video Solution

(2. 2xy) ×  (0. 1x) ×  (0. 16)

82. Express each of the products as a monomials and
 verify the

result in each case for 


W t h Vid S l ti

x = 1: (3x) ×  (4x) × ( − 5x)

https://dl.doubtnut.com/l/_kKWcIImsQh1X
https://dl.doubtnut.com/l/_eV1xxIRQQ9ix
https://dl.doubtnut.com/l/_s8WzUPUs8oDg
https://dl.doubtnut.com/l/_Afq5S2fgvREP


Watch Video Solution

83. Express each of the products as a monomials and
 verify the

result in each case for 


Watch Video Solution

x = 1: (4x2) × ( − 3x) ×  ( x3)
4

5

84. Express each of the products as a monomials and
 verify the

result in each case for 


Watch Video Solution

x = 1: (5x4) ×  (x2)
3

×  (2x)2

85. Express each of the products as a monomials and
 verify the

result in each case for 


Watch Video Solution

x = 1: (x2)
3

×  (2x) ×  ( − 4x) ×  (5)

https://dl.doubtnut.com/l/_Afq5S2fgvREP
https://dl.doubtnut.com/l/_IQQLcJV0ZfrS
https://dl.doubtnut.com/l/_W7xg8EWt96Gl
https://dl.doubtnut.com/l/_D6yr88oznJ1o
https://dl.doubtnut.com/l/_Mov3FKCZloih


86. Write down the product of 
 Verify the

product for 

Watch Video Solution

 8x2y6and − 20xy.

x = 2. 5, y = 1.

87. 

Watch Video Solution

Evaluate (3. 2x6y3) × (2. 1x2y2)when x = 1 and y = 0. 5

88. Find the value of 
 when

Watch Video Solution

(5x6) ×  ( − 1. 5x2y3) × ( − 12xy2)

 x = 1, y = 0. 5.

89. 

Watch Video Solution

Evaluate (2. 3a5b2) × (1. 2a2b2)when a = 1 and b = 0. 5.

https://dl.doubtnut.com/l/_Mov3FKCZloih
https://dl.doubtnut.com/l/_oeDpfuBz1DEb
https://dl.doubtnut.com/l/_CuaUki6iK01B
https://dl.doubtnut.com/l/_IOBM4d5kXF9B


90. Evaluate 

Watch Video Solution

( − 8x2y6) × (  − 20xy)f or  x = 2. 5 and y = 1.

91. Express each of the products as a monomials and
 verify the

result for 


Watch Video Solution

x = 1, y = 2: (xy3) × (yx3) × (xy)

92. find the product of following

Watch Video Solution

( a2b) ×  ( − 15b2ac) ×  ( − c2)
2

5

1

2

https://dl.doubtnut.com/l/_IOBM4d5kXF9B
https://dl.doubtnut.com/l/_MWsxNbRtYxrc
https://dl.doubtnut.com/l/_LfXMgsblsHTw
https://dl.doubtnut.com/l/_Om635pvoRJ6w


93. Express the product as a monomial

Watch Video Solution

( − a2b) × ( − b2c) ×  ( − c2a)
4

7

2

3

7

6

94. Express each of the products as a monomials

Watch Video Solution

( abc3) × ( − a3b2) × ( − 8b3c)
4

9

27

5

95. Evaluate each of the that when 

Watch Video Solution

x = 2, y = − 1.

(2xy) × ( ) × (x2) × (y2)
x2y

4

https://dl.doubtnut.com/l/_C602lDIicf73
https://dl.doubtnut.com/l/_mdu7G6I65D6Q
https://dl.doubtnut.com/l/_EN1ADVspei2Z


96. Evaluate each of the that when 

Watch Video Solution

x = 2, y = − 1.

( x2y) × ( − xy2) × ( x2y2)
3

5

15

4

7

9

97. Multiply:
 
by 

Watch Video Solution

2x (3x + 5y)

98. Multiply:
 
by 

Watch Video Solution

(7xy + 5y) 3xy

99. Multiply:
 
by 

Watch Video Solution

−
3ab2

5
( − b)

2a

3

https://dl.doubtnut.com/l/_KJc7ZKu3rJuO
https://dl.doubtnut.com/l/_W0QzkX0ChRxK
https://dl.doubtnut.com/l/_UkraB90GPOAq
https://dl.doubtnut.com/l/_3h1MqhlQRD1o


100. Find the product of 
 Verify the result for 

Watch Video Solution

s2t and s + t.
7

2

s = and t = 5.
1

2

101. Multiply: 

Watch Video Solution

(3x − y2x)by xy.
4

5

1

2

102. Find the following products: (a) 

Watch Video Solution

100x(0. 01x4 − 0. 01x2)

(b)121. 5abx (ac + )
b

10

https://dl.doubtnut.com/l/_3h1MqhlQRD1o
https://dl.doubtnut.com/l/_I7l0Yrdsoath
https://dl.doubtnut.com/l/_h7EqyPv5KR6H
https://dl.doubtnut.com/l/_uVa1O4xWOioP


103. Determine each of the products and find the
value of each for




Watch Video Solution

x = 2,  y = 1. 15, z = 0. 01.

xz(x2 + y2)

104. Determine the product of  and find the
 value if 

Watch Video Solution

z2(x − y)

x = 2,  y = 1. 15, z = 0. 01.

105. Determine the product and find the
 value for




Watch Video Solution

x = 2,  y = 1. 15, z = 0. 01. (2z − 3x) × ( − 4y)

https://dl.doubtnut.com/l/_YoxQGbmwvcXy
https://dl.doubtnut.com/l/_p7lj1lQL7OEu
https://dl.doubtnut.com/l/_PBB7U3kvC93M


106. Simplify the expressions and evaluate
them as directed:
(i)

Watch Video Solution

107. Add : 

Watch Video Solution

5m (3 − m)and 6m2 − 13m

4y (3y2 + 5y − 7)and 2 (y3 − 4y2 + 5)

108. Subtract from

Watch Video Solution

3pq (p − q) 2pq (p + q)

109. Add: (i) 
 and 
 (ii)

and

Watch Video Solution

p (p − q), q(q − r)  r (r − p) 2x (z − x − y)

 2y (z − y − x)

https://dl.doubtnut.com/l/_vbnndgFRQ3FQ
https://dl.doubtnut.com/l/_j3XlMQBMQKWu
https://dl.doubtnut.com/l/_6sJ40VjZSXwi
https://dl.doubtnut.com/l/_utfcOu26KpYT


110. Subtract:
  from 

Watch Video Solution

3l (l − 4m + 5n) 4l(10n − 3m + 2l)

111. Subtract:
 from

Watch Video Solution

3a (a + b + c) − 2b(a − b + c)

 4c( − a + b + c)

112. Simplify each of the expressions:

Watch Video Solution

15a2 − 6a(a − 2) + a(3 + 7a)

https://dl.doubtnut.com/l/_utfcOu26KpYT
https://dl.doubtnut.com/l/_4GEDbuvqhkzF
https://dl.doubtnut.com/l/_SISZqVIj7fQM
https://dl.doubtnut.com/l/_lDBbcnK68sGP


113. Simplify the following expression:

Watch Video Solution

x2(1 − 3y2) + x(xy2 − 2x) − 3y(y − 4x2y)

114. Simplify each of the following expressions:

Watch Video Solution

4st (s − t) − 6s2(t − t2) − 3t2(2s2 − s) + 2st(s − t)

115. Find the following products: 
 (ii) 

(iii)

Watch Video Solution

2a3(3a + 5b) −11a(3a + 2b)

−5a(7a − 2b)

https://dl.doubtnut.com/l/_h35n0GKlRwhJ
https://dl.doubtnut.com/l/_rDQeX2QoK8wW
https://dl.doubtnut.com/l/_UhXDurNvJnZD


116. Find the following products: 
(ii)
 
 (iii)

Watch Video Solution

(x3 + y3)
6x

5
xy(x3 − y3)

0. 1y(0. 1x5 + 0. 1y)

117. Find the following products: (i) 
 (ii)


(iii)

Watch Video Solution

xyz ( x2yz − xyz2)
4

27

9

2

3

4

1. 5x(10x2y − 100xy2) 4. 1xy (1. 1x − y)

118. Find the following products: (i) 
 (ii)

Watch Video Solution

x2y( xy2 + x)
7

5

3

5

2

5

a(a2 + b2 − 3c2)
4

3

119. Find the product 
and evaluate its value for x =3.24x2(1 − 2x)

https://dl.doubtnut.com/l/_spmz1JY0xCKh
https://dl.doubtnut.com/l/_A8EhspwEh1NJ
https://dl.doubtnut.com/l/_pWTzW3SwuVsD
https://dl.doubtnut.com/l/_KQ3Tzpa2EcPL


Watch Video Solution

120. Find the product 
 and find its value for 

Watch Video Solution

 3y(xy + y2)

x = 4 and y = 5.

121. Multiply 
by 
and verify the answer for 

and

Watch Video Solution

− x2y23

2
 (2x − y) x = 1

 y = 2.

122. Multiply the monomial by the binomial and find
 the value of

each for 
 (i) 
 (ii) 


(iii)

Watch Video Solution

x = − 1, y = 0. 25 and z = 0. 05: 15y2(2 − 3x)

−3x(y2 + z2) z2(x − y)

https://dl.doubtnut.com/l/_KQ3Tzpa2EcPL
https://dl.doubtnut.com/l/_LtGZcZ0wr4uD
https://dl.doubtnut.com/l/_gAJXvZvZpbQd
https://dl.doubtnut.com/l/_1ogzIUo692ZJ


123. Simplify: 

Watch Video Solution

2x2(x3 − x) − 3x(x4 + 2x) − 2(x4 − 3x2)

124. Simplify: 

Watch Video Solution

x3y(x2 − 2x) + 2xy(x3 − x4)

125. Simplify: 

Watch Video Solution

3a2 + 2(a + 2) − 3a(2a + 1)

126. Simplify: 

Watch Video Solution

x(x + 4) + 3x(2x2 − 1) + 4x2 + 4

https://dl.doubtnut.com/l/_1ogzIUo692ZJ
https://dl.doubtnut.com/l/_Q2296QBADkFu
https://dl.doubtnut.com/l/_7pWOCTdy1tP0
https://dl.doubtnut.com/l/_m7KgVhvwsLw2
https://dl.doubtnut.com/l/_4Oh3YF9Gw4gh


127. Simplify: 

Watch Video Solution

a(b − c) − b(c − a) − c(a − b)

128. Simplify: 

Watch Video Solution

a(b − c) + b(c − a) + c(a − b)

129. Simplify:

Watch Video Solution

4ab(a − b) − 6a2(b − b2) − 3b2(2a2 − a) + 2ab(b − a)

130. Simplify: 

Watch Video Solution

x2(x2 + 1) − x3(x + 1) − x(x3 − x)

https://dl.doubtnut.com/l/_86PhjmiQGM6E
https://dl.doubtnut.com/l/_tqRnx5Rwzz6V
https://dl.doubtnut.com/l/_t4FYBNyZplep
https://dl.doubtnut.com/l/_WRpe23EvxkEj


131. Simplify: 

Watch Video Solution

2a2 + 3a(1 − 2a3) + a(a + 1)

132. Simplify: 

Watch Video Solution

a2(2a − 1) + 3a + a3 − 8

133. Simplify: 

Watch Video Solution

x2(x2 − 1) + x2(x2 + x) − x(x3 − 1)
3

2

1

4

3

4

134. Simplify: 

Watch Video Solution

a2b(a − b2) + ab2(4ab − 2a2) − a3b(1 − 2b)

https://dl.doubtnut.com/l/_0PZQonYSNbWH
https://dl.doubtnut.com/l/_XtmbYpDM0vag
https://dl.doubtnut.com/l/_YRw5Q6AdA7sp
https://dl.doubtnut.com/l/_7G6RYrAHtb8U
https://dl.doubtnut.com/l/_1Yct31TQ9V2r


135. Simplify:

Watch Video Solution

a2b(a3 − a + 1) − ab(a4 − 2a2 + 2a) − b(a3 − a2 − 1)

136. Multiply 

Watch Video Solution

(3x + 2y)and (5x + 3y)

137. Multiply 

Watch Video Solution

(2x + 3y)and (4x − 5y)

138. Multiply 

Watch Video Solution

( x − y)and (5x2 − 4y2).
1

5

1

4

https://dl.doubtnut.com/l/_1Yct31TQ9V2r
https://dl.doubtnut.com/l/_FL2TkrJs4dTE
https://dl.doubtnut.com/l/_1Q1M6uZNuTv2
https://dl.doubtnut.com/l/_6w77qL75jJxz
https://dl.doubtnut.com/l/_XHqsQ6PhfXyr


139. Multiply 
by column method.

Watch Video Solution

(7a + 3b)and (2a + 3b)

140. Multiply 
by 
by column method.

Watch Video Solution

(7x − 3y) (4x − 5y)

141. Multiply 
by

Watch Video Solution

(3x2 + y2)  (x2 + 2y2).

142. Multiply 

Watch Video Solution

(0. 5x − y) by  (0. 5x + y)

https://dl.doubtnut.com/l/_XHqsQ6PhfXyr
https://dl.doubtnut.com/l/_L591v3pe23BA
https://dl.doubtnut.com/l/_kABnchM4cNoX
https://dl.doubtnut.com/l/_ndf9hkPqbaLh


143. Multiply 

Watch Video Solution

(4x + )and (3x − )
3y

5

4y

5

144. Multiply: 

Watch Video Solution

{2m + ( − n)}by { − 3m + ( − 5}

145. Find the product of 
and verify the

result for 

Watch Video Solution

(y + y2) and (7y − y2)
2

7

y = 3.

146. Find the value of the products:

W t h Vid S l ti

(x + 2y)(x − 2y)at x = 1,  y = 0

https://dl.doubtnut.com/l/_qaJQ3tOQW9MT
https://dl.doubtnut.com/l/_EVxJCCEW7hdd
https://dl.doubtnut.com/l/_ifG7j7lsQdjN
https://dl.doubtnut.com/l/_kt8Ce8wJqpaQ


Watch Video Solution

147. Find the value of the products:

Watch Video Solution

(3m − 2n)(2m − 3n)at m = 1,  n = − 1

148. Find the value of the products:

Watch Video Solution

(4a2 + 3b)(4a2 + 3b)at a = 1,  b = 2.

149. Simplify: 

Watch Video Solution

(6x2 + 15y2)(6x2 − 15y2)
1

3

https://dl.doubtnut.com/l/_kt8Ce8wJqpaQ
https://dl.doubtnut.com/l/_yJPANzzv9p06
https://dl.doubtnut.com/l/_sRVshqYRvTvr
https://dl.doubtnut.com/l/_RfCO4bEv84iN


150. Simplify: 

Watch Video Solution

9x4(2x3 − 5x4) × 5x6(x4 − 3x2)

151. Simplify : 

Watch Video Solution

(2x + 5)(3x − 2) + (x + 2)(2x − 3)

152. Simplify: 

Watch Video Solution

(3x + 2)(2x + 3) − (4x − 3)(2x − 1)

153. Simplify: 

Watch Video Solution

(2x + 3y)(3x + 4y) − (7x + 3y)(x + 2y)

https://dl.doubtnut.com/l/_iVw3IUjvJyCu
https://dl.doubtnut.com/l/_bMCWZPmmitRL
https://dl.doubtnut.com/l/_jJY6ENBsuDlg
https://dl.doubtnut.com/l/_5rtBOoHwYJ3s
https://dl.doubtnut.com/l/_yjS3UaAud1To


154. Multiply: 

Watch Video Solution

(2x2 − 3x + 5)by(5x + 2).

155. Multiply: 

Watch Video Solution

(2x2 − 4x + 5) by (x2 + 3x − 7)

156. Simplify: 

Watch Video Solution

(3x − 2)(x − 1)(3x + 5)

157. Simplify: 

Watch Video Solution

(5 − x)(3 − 2x)(4 − 3x)

https://dl.doubtnut.com/l/_yjS3UaAud1To
https://dl.doubtnut.com/l/_hmRTvLoVjo46
https://dl.doubtnut.com/l/_R0ExEDsAkKmu
https://dl.doubtnut.com/l/_c0bpbaBKd9bN


158. Multiply: 
(ii) 

Watch Video Solution

(5x + 3)by(7x + 2) (2x + 8)by (x − 3)

159. Multiply: 
(ii) 

Watch Video Solution

(7x + y)by(x + 5y) (a − 1)by (0. 1a2 + 3)

160. Multiply: (i) 
 (ii)

Watch Video Solution

(3x2 + y2)by (2x2 + 3y2)

( x + y)by ( x + 4y)
3

5

1

2

5

6

161. Multiply: (i) 
(ii)

Watch Video Solution

(x6 − y6)by (x2 + y2) (x2 + y2)by (3a + 2b)

https://dl.doubtnut.com/l/_znWPHlo2DtNy
https://dl.doubtnut.com/l/_EU1aicw0yhIS
https://dl.doubtnut.com/l/_Cp0TkWiO3bvV
https://dl.doubtnut.com/l/_FE5eZS7EAIgu


162. Multiply: 

Watch Video Solution

[ − 3d + ( − 7f)]by (5d + f)

163. Multiply: (i) 
 (ii)

Watch Video Solution

(2x2y2 − 5xy2)by (x2 − y2)

( + )by ( + )
x

7

x2

2

2

5

9x

4

164. Multiply: (i) 
 (ii) 

Watch Video Solution

( + )by ( − )
a

7

a2

9

b

2

b2

3

(3x2y − 5xy2)by ( x2 + y2)
1

5

1

3

https://dl.doubtnut.com/l/_VRVbO6rDJVox
https://dl.doubtnut.com/l/_Yi3Y3PsOC7E1
https://dl.doubtnut.com/l/_R6H4UxQ2shYQ


165. Multiply: (i) 
 (ii)

Watch Video Solution

(2x2 − 1)by (4x3 + 5x2)

(2xy + 3y2)(3y2 − 2)

166. Find the following product and verify the
 result for x




Watch Video Solution

= − 1, y = − 2: (3x − 5y)(x + y)

167. Simplify:


Watch Video Solution

x2(x + 2y)(x − 3y)

168. Simplify:


Watch Video Solution

(x2 − 2y2)(x + 4y)x2y2

https://dl.doubtnut.com/l/_DlpE8JDxzvkm
https://dl.doubtnut.com/l/_TFKzB63Qqes3
https://dl.doubtnut.com/l/_ixQWiJ24ua2Y
https://dl.doubtnut.com/l/_tw69ho7SHxcQ


Watch Video Solution

169. Simplify:


Watch Video Solution

a2b2(a + 2b)(3a + b)

170. Simplify:


Watch Video Solution

x2(x − y) + y2(x + 2y)

171. Simplify:


Watch Video Solution

(x3 − 2x2 + 5x − 7)(2x − 3)

172. Simplify:


Watch Video Solution

(5x + 3)(x − 1)(3x − 2)

https://dl.doubtnut.com/l/_tw69ho7SHxcQ
https://dl.doubtnut.com/l/_NNbaaVkuwjQE
https://dl.doubtnut.com/l/_3lZotncScuy9
https://dl.doubtnut.com/l/_s7CmL5Eui9SN
https://dl.doubtnut.com/l/_CQZTxWD9eGhH


173. Simplify:


Watch Video Solution

(5 − x)(6 − 5x)(2 − x)

174. Simplify:


Watch Video Solution

(2x2 + 3x − 5)(3x2 − 5x + 4)

175. Simplify:


Watch Video Solution

(3x − 2)(2x − 3) +  (5x − 3)(x + 1)

176. Simplify:


Watch Video Solution

(5x − 3)(x + 2) − (2x + 5)(4x − 3)

https://dl.doubtnut.com/l/_CQZTxWD9eGhH
https://dl.doubtnut.com/l/_IU2Hug1EMeX5
https://dl.doubtnut.com/l/_TEIpQegku9pJ
https://dl.doubtnut.com/l/_xzTd52MpuOxD
https://dl.doubtnut.com/l/_8QkqFfGjghQE


177. Simplify:


Watch Video Solution

(3x + 2y)(4x + 3y) −  (2x − y)(7x − 3y)

178. Simplify:


Watch Video Solution

(x2 − 3x + 2)(5x − 2) −  (3x2 + 4x − 5) (2x − 1)

179. Simplify:

Watch Video Solution

(x3 − 2x2 + 3x − 4)(x − 1) −  (2x − 3)(x2 − x + 1)

180. Evaluate: 
(ii) 


Watch Video Solution

(2x + 3y)2 (2x − 3y)2 (2x + 3y)2x − 3y).

https://dl.doubtnut.com/l/_ieAOBYmPlJSl
https://dl.doubtnut.com/l/_CsxUdC4OwL0t
https://dl.doubtnut.com/l/_qCew887YZBZv
https://dl.doubtnut.com/l/_d20c2lpKEwOF


181. Write down the squares of each of the following
 binomials:


(ii) 
(iii) 

Watch Video Solution

(x + )
a

2
(5b − )

1

2
(y + )

y2

2

182. Find the product of the binomials:


Watch Video Solution

( x2 + 3 )( x2 + 3)
4

3

4

3

183. Find the product of the following binomials:

Watch Video Solution

( x2 + 5y2) ( x2 + 5y2)
2

3

2

3

184. Find the product of the binomials:
(6x2 − 7y2)(6x2 − 7y2)

https://dl.doubtnut.com/l/_6SQy1sQg36au
https://dl.doubtnut.com/l/_V3hjLYjFmfsp
https://dl.doubtnut.com/l/_YDnWABSQ7e7a
https://dl.doubtnut.com/l/_XDmsKgPDp4qW


Watch Video Solution

185. Find the product of the binomials:


Watch Video Solution

( x − y) ( x − y)
1

2

1

5

1

2

1

5

186. Find the product of the following binomials: 

(i) 


(ii) 

Watch Video Solution

( x + y)( x − y)
3

4

5

6

3

4

5

6

(2a + )(2a − )
3

b

3

b

187. Find the product of the following binomials:




Watch Video Solution

(a2 + b2)( − a2 + b2) ( − a + c)( − a − c)

https://dl.doubtnut.com/l/_XDmsKgPDp4qW
https://dl.doubtnut.com/l/_dQAPeuFXuDxe
https://dl.doubtnut.com/l/_Kq3ELX3IygDp
https://dl.doubtnut.com/l/_iaoEHmgUbLCM
https://dl.doubtnut.com/l/_jyoXYbA4R0nd


188. If 
find the values of 

Watch Video Solution

x + = 4,
1

x
x2 +

1

x2

189. If 
find the values of 

Watch Video Solution

x + = 4,
1

x
x4 +

1

x4

190. If 
find the value of 

Watch Video Solution

x − = 9,
1

x
x2 +

1

x2

191. If 
find 

Watch Video Solution

x − = 9,
1

x
x + .

1

x

https://dl.doubtnut.com/l/_jyoXYbA4R0nd
https://dl.doubtnut.com/l/_BkjcYF7oucV2
https://dl.doubtnut.com/l/_EtAKgT99n8k0
https://dl.doubtnut.com/l/_zWnwAtHIUFnE
https://dl.doubtnut.com/l/_V78NdSpYZN2a


192. If 
find the values of each of the:


Watch Video Solution

x2 + = 27,
1

x2
x +

1

x

193. If 
find the values of each of the:


Watch Video Solution

x2 + = 27,
1

x2
x −

1

x

194. If 
find the value of 

Watch Video Solution

x + y = 12 and xy = 14, x2 + y2.

195. If 
find the value of 

Watch Video Solution

3x + 2y = 12 and xy = 6, 9x2 + 4y2.

https://dl.doubtnut.com/l/_V78NdSpYZN2a
https://dl.doubtnut.com/l/_sPmOhULiacoD
https://dl.doubtnut.com/l/_955fQBqtUjxc
https://dl.doubtnut.com/l/_YRXUu8XHzaJQ


196. If 
find the value of 

Watch Video Solution

4x2 + y2 = 40 and xy = 6, 2x + y.

197. Find the continued product:


Watch Video Solution

(x + 2)(x − 2)(x2 + 4)

198. Find the continued product:


Watch Video Solution

(2x + 3y)(2x − 3y)(4x2 + 9y2)

199. Find the continued product:


Watch Video Solution

(x − 1)(x + 1)(x2 + 1)(x4 + 1)

https://dl.doubtnut.com/l/_fMTtBuIRRwxn
https://dl.doubtnut.com/l/_flxMioZDR2LS
https://dl.doubtnut.com/l/_Y6YQ7uUcqMBP
https://dl.doubtnut.com/l/_Kh0cuAWMwIHZ
https://dl.doubtnut.com/l/_BJbbMZgKaMhF


200. Find the continued product:

Watch Video Solution

(x − )(x + )(x2 + )(x4 + )
1

x

1

x

1

x2

1

x4

201. Find the continued product:


Watch Video Solution

(x − − 1)(x + + 1)
y

5

y

5

202. Simplify the products: 

Watch Video Solution

( x2 + x + 1)(x2 − x + 1)

203. Simplify the product: 

Watch Video Solution

(x2 + 2x + 2)(x2 − 2x + 2)

https://dl.doubtnut.com/l/_BJbbMZgKaMhF
https://dl.doubtnut.com/l/_IYvzuAJYwhSF
https://dl.doubtnut.com/l/_XnHiKWF3oJCo
https://dl.doubtnut.com/l/_GHacikfbD194
https://dl.doubtnut.com/l/_vd2IiIHHcgBk


204. Prove that:

Watch Video Solution

2a2 + 2b2 + 2c2 − 2ab − 2bc − 2ca = (a − b)2 + (b − c)2 + (c − a)2

205. If 

Watch Video Solution

a2 + b2 + c2 − ab − bc − ca = 0,  prove that a = b = c

206. Using the formulae for squaring a binomial,
 evaluate the

following :
 
(ii) 
(iii) 

Watch Video Solution

(101)2 (99)2 (93)2

207. Simplify the following by using 
 (i)


(ii) 
(iii) 
(iv) 

(a + b)(a − b) = a2 − b2.

68 × 72 101 × 99 67 × 73 1282 − 772

https://dl.doubtnut.com/l/_vd2IiIHHcgBk
https://dl.doubtnut.com/l/_nEUiTF7pTWeP
https://dl.doubtnut.com/l/_VB3aePgnz5fg
https://dl.doubtnut.com/l/_AFrRzguzF1rP


Watch Video Solution

208. Find the value of 
, if 

Watch Video Solution

x 6x = 232 − 172

209. Find the value of 
, if 

Watch Video Solution

x 4x = 982 − 882

210. Find the value of 
, if 

Watch Video Solution

x 25x = 5362 − 1362

211. What must be added to 
 to make it a whole

square?

9x2 − 24x + 10

https://dl.doubtnut.com/l/_AFrRzguzF1rP
https://dl.doubtnut.com/l/_arM6jSuIKoKj
https://dl.doubtnut.com/l/_VGSJ5A4Aaax5
https://dl.doubtnut.com/l/_GaoCa7kNMrs2
https://dl.doubtnut.com/l/_Pu2EMwON2WwF


Watch Video Solution

212. Write the following squares of binomials as
 trinomials:


(ii) 
(iii) 
(iv) 

Watch Video Solution

(x + 2)2 (8a + 3b)2 (2m + 1)2 (9a + )
2

1

6

213. Write the following squares of binomials as
 trinomials:


(ii) 
(iii) 
(iv) 

Watch Video Solution

(x + )
2

x2

2
( − )
x

4

y

3
(3x − )

21

3x
( − )

2
x

y

y

x

214. Write the following squares of binomials as
 trinomials:


(ii) 
 
(iv) 

Watch Video Solution

( − )
23a

2

5b

4
(a2b − bc2)

2
( + )

22a

3b

2b

3a
(x2 − ay)

2

https://dl.doubtnut.com/l/_Pu2EMwON2WwF
https://dl.doubtnut.com/l/_nGeJzr44Mqzs
https://dl.doubtnut.com/l/_BnDxsH0ZNyy7
https://dl.doubtnut.com/l/_qKWYhR15NSUg


215. Find the product of the following binomials; 

(i) 


(ii) 

Watch Video Solution

(2x + y)(2x + y)

(a + 2b)(a − 2b)

216. Find the product of the following binomials; 

(i) 


(ii) 

Watch Video Solution

(a2 + bc)(a2 − bc)

( − )( + )
4x

5

3y

4

4x

5

3y

4

217. Find the product of the following binomials; 

(i) 


(ii) 

(2x + )(2x − )
3

y

3

y

(2a3 + b3)(2a3 − b3)

https://dl.doubtnut.com/l/_qKWYhR15NSUg
https://dl.doubtnut.com/l/_68cDLSqyltfE
https://dl.doubtnut.com/l/_Cd2rFMekOD7E
https://dl.doubtnut.com/l/_J7drZs8YZsc6


Watch Video Solution

218. Find the product of the following binomials; 

(i) 


(ii) 

Watch Video Solution

(x4 + )(x4 − )
2

x2

2

x2

(x3 + ) (x3 − )
1

x3

1

x3

219. Using the formula for squaring a binomial ,
 evaluate the

following:
 
(ii) 
(iii) 

Watch Video Solution

(102)
2

(99)
2

(1001)
2

220. Using the formula for squaring a binomial ,
 evaluate the

following:
 
(ii) 

Watch Video Solution

(999)
2

(703)
2

https://dl.doubtnut.com/l/_J7drZs8YZsc6
https://dl.doubtnut.com/l/_ue7X5N7PkX4C
https://dl.doubtnut.com/l/_fl9LFLBDQC0i
https://dl.doubtnut.com/l/_IaiLfJhN5xvH


221. Simplify the following using the formula:




(i) 


(ii) 

Watch Video Solution

(a − b)(a + b) = a2 − b2 :

(82)
2

− (18)
2

(467)
2

− (33)
2

222. Simplify the following using the formula:




(i) 


(ii) 

Watch Video Solution

(a − b)(a + b) = a2 − b2 :

(79)
2

− (69)
2

197  ×  203

https://dl.doubtnut.com/l/_IaiLfJhN5xvH
https://dl.doubtnut.com/l/_Yp2hXZbvj29v
https://dl.doubtnut.com/l/_DLMdzezlddCs


223. Simplify the following using the formula:


 
(ii) 

Watch Video Solution

(a − b)(a + b) = a2 − b2 : 113 ×  87 95 × 105

224. Simplify the following using the formula:


 
(ii) 

Watch Video Solution

(a − b)(a + b) = a2 − b2 : 1. 8 × 2.2 9. 8 × 10.2

225. Simplify the following using the identities: 
 (ii) 

Watch Video Solution

582 − 422

16

178  ×  178  − 22  ×  22

https://dl.doubtnut.com/l/_N2zoemjmf2mr
https://dl.doubtnut.com/l/_Uib1IIxbfK77
https://dl.doubtnut.com/l/_7y6YUxb4fiVV


226. Simplify the following using the identities:

 (ii) 

Watch Video Solution

198  ×  198 − 102  ×  102

96
1. 73  ×  1. 73 − 0. 27  ×  0. 27

227. Find the value of x, if:
 (i) 
 (ii) 


(iii) 

Watch Video Solution

4x = (52)2 − (48)2

14x = (47)2 − (33)2 5x = (50)2 − (40)2

228. If 
find the value of 

Watch Video Solution

x − = 3,
1

x
x2 + .

1

x2

229. If 
find the values of 

Watch Video Solution

x − = 3,
1

x
x2 + and x4 + .

1

x2

1

x4

https://dl.doubtnut.com/l/_POJUDwIRqjll
https://dl.doubtnut.com/l/_pZDzd3pqn23O
https://dl.doubtnut.com/l/_kzDDXNBiLnRS
https://dl.doubtnut.com/l/_I9C8CvmxiItP


Watch Video Solution

230. If 
find the values of  and 

Watch Video Solution

x2 + = 18,
1

x2
x +

1

x
x − .

1

x

231. If 
find the values of 

Watch Video Solution

x + y = 4 and xy = 2, x2 + y2

232. If 
find the value of 

Watch Video Solution

x − y = 7 and xy = 9, x2 + y2

233. If 
find the value of 

Watch Video Solution

3x + 5y = 11 and xy = 2, 9x2 + 25y2

https://dl.doubtnut.com/l/_I9C8CvmxiItP
https://dl.doubtnut.com/l/_gF9iqkNPSe1v
https://dl.doubtnut.com/l/_s0eoikqxezJr
https://dl.doubtnut.com/l/_p04AUwh1oh1j
https://dl.doubtnut.com/l/_vN5s1Mpks86l


234. Find the values of the following expressions:

Watch Video Solution

16x2 + 24 + 9 ,  when x =
7

4

64x2 + 81y2 + 144xy,  when x = 11and y =
4

3

235. If 
find the value of 

Watch Video Solution

x + = 9.
1

x
x4 + .

1

x4

236. If 
find the value of 

Watch Video Solution

x + = 12,
1

x
x − .

1

x

https://dl.doubtnut.com/l/_vN5s1Mpks86l
https://dl.doubtnut.com/l/_LhZdcfQoCW6A
https://dl.doubtnut.com/l/_KGD5ZWNUTULf
https://dl.doubtnut.com/l/_YbM1Srk6bVGK


237. If 
find the value of 
 . [Hint

use 

Watch Video Solution

2x + 3y = 14 and 2x − 3y = 2, xy

(2x + 3y)2 − (2x − 3y)2 = 24xy]

238. If 
find the value of 

(i) 


(ii) 

Watch Video Solution

x2 + y2 = 29 and xy = 2,

x + y

x − y

239. What must be added to each of the following
 expressions to

make it a whole squares? 
(ii) 

Watch Video Solution

4x2 − 12x + 7 4x2 − 20x + 20

https://dl.doubtnut.com/l/_Gf1wv7A0f83o
https://dl.doubtnut.com/l/_h1VVBzLZFx9X
https://dl.doubtnut.com/l/_Iz1g9E0XakML


240. Simplify: (i) 
 (ii)


 (iii)

Watch Video Solution

(x − y)(x + y)x2 + y2) (x4 + y4)

(2x − 1) (2x + 1)(4x2 + 1)(16x4 + 1)

(7m − 8n)2 + (7m + 8n)2

241. Simplify: 

Watch Video Solution

(m2 − n2m)
2

+ 2m3n2

242. Show that : 

Watch Video Solution

(3x + 7)2 − 84x = (3x − 7)2

(9a − 5b)2 + 180ab = (9a + 5b)2

( − )
2

+ 2mn = +
4m

3

3n

4

16m2

9

9n2

16

https://dl.doubtnut.com/l/_iDDwMPqqlfeZ
https://dl.doubtnut.com/l/_bxSPRhATiRpg
https://dl.doubtnut.com/l/_yhywjzdusMsK


243. Show that : 

Watch Video Solution

(4pq + 3q)2 − (4qp − 3q)2 = 48pq2

(a − b)(a + b) + (b − c)(b + c) + (c − a)(c + a) = 0

244. Find the following products: 

(i) 


(ii) 


(iii) 


(iv) 


(vi) 


(vii) 

Watch Video Solution

(x + 2)(x + 3)

(x + 7)(x − 2)

y − 4)(y − 3)

(y − 7)(y + 3)

(2x − 3)(2x + 5)

(3x + 4)(3x − 5)

245. Evaluate the following :
 
(ii) 
(iii) 107 X 103 56 X 48 95 X 97

https://dl.doubtnut.com/l/_aqZLL5cASyEK
https://dl.doubtnut.com/l/_iEF2DFD5kM3U
https://dl.doubtnut.com/l/_kmkWaCn4NF8t


Watch Video Solution

246. Find the following products: (i) 
 (ii) 


(iii) 
(iv) 

Watch Video Solution

(x + 4)(x + 7)

(x − 11)(x + 4) (x + 7)(x − 5) (x − 3)(x − 2)

247. Find the following products: (i) 
 (ii) 


 (iii) 
 (iv) 

Watch Video Solution

(y2 − 4)(y2 − 3)

(x + )(x + )
4

3

3

4
(3x + 5)(3x + 11)

(2x2 − 3)(2x2 + 5)

248. Find the following products: (i) 
 (ii) 


 (iii) 
 (iv) 

(z2 + 2)(z2 − 3)

(3x − 4y)(2x − 4y) (3x2 − 4xy)(3x2 − 3xy)

(x + )(x + 5)
1

5

https://dl.doubtnut.com/l/_kmkWaCn4NF8t
https://dl.doubtnut.com/l/_8aWys4H1Gv2d
https://dl.doubtnut.com/l/_CGzvOEPc6zsD
https://dl.doubtnut.com/l/_h3zkuQGBvuAT


Watch Video Solution

249. Find the following products: 
 (ii) 


 
 (iv) 

Watch Video Solution

(z + )(z + )
3

4

4

3

(x2 + 4)(x2 + 9) (y2 + 12)(y2 + 6) (x2 + 4)(x2 + 9)

(p2 + 16)(p2 − )
1

4

250. Evaluate the following :
 
 (ii) 
 (iii)


(iv) 

Watch Video Solution

102  ×  106 109  ×  107

35  ×  37 53  ×  55

251. Evaluate the following :
 
 (ii) 
 (iii) 

Watch Video Solution

104  ×  96 34  ×  36

994  ×  1006

https://dl.doubtnut.com/l/_h3zkuQGBvuAT
https://dl.doubtnut.com/l/_d6vmVfLXt9mg
https://dl.doubtnut.com/l/_wu7dBIU7rlgf
https://dl.doubtnut.com/l/_mq089bPBbyP1


https://dl.doubtnut.com/l/_mq089bPBbyP1

